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231. X3 —
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233.
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SCOMPOSIZIONE DI UN POLINOMIO IN FATTORI - bis
Esercizi proposti

5x% — 8x — 4; 5x? — 14x + 8; 2x? + 5x + 2. (x—2)(5x+2); ...; ...
4x? 4+ 9x + 5; 2x2 — 3x - 2; 8y? — 2y — 6. [(x+1)(4x +5); ..]
7x% 4+ 16x + 4; 4y? 4+ 14y + 12, [(x +2)(7x +2); 2(y +2)(2y +3)]
v2 4+ 20v + 99; 22 — 4z — 32; a® +6a—91; b2 +8b+7.
c? + 15¢ + 36; d? — 2d - 63; k? — 4k + 3; h? —13h + 40.
—24m + 128; m? —7m —T78; n? —11n — 60; n? + 14n — 51.
‘x* +2x2 - 15; x5 —3x% +2¢% 6. (X2 +5)(x® — 3); (X3 +2)(x% —3)]
2x% 4 x — 4; m® —3m? — 4m + 12. [(x — 1)(5%% + 3x + 4); (m—2)(m + 2)(m - 3)]
a’—7a®+14a—8; 4p° +12p2 —15p + 4. @=1)(.)(.); P+4)(2p—1)7
a®—a—4a+4; q® — 122 +21g — 10. [...; (@—1)%(g—10)]
6x3 +x2 —21x - 10; 2x% —5x — 18. [(x —2)(2x + 1)(3x + 5); (x +2)(2x - 9)]
x8 —14x* 4 49x2 — 36. [+ 1)(x = 1)(x +2)(x — 2)(x + 3)(x — 3)]
X% = 10x —12; x3—20x24+53x—34. [(x—2)(x*+2x3+4x°>+8x +6); (x—1)(x—2)(x—17)]
-6x% +11x—6;  x°+ 15x2 + 2x — 312, [(x = 1)(x —2)(x — 3); (x —4)(x +6)(x + 13)]
2x4—5xé+2x+1; x® —7x+6. [(x—1)%(2x2 + 4x +1); (x — 1)(x — 2)(x + 3)]
3 — 3xt — 24x3 4 24x. [Bx(x — 1)(x + 1)(x — 2)(x% + 2x + 4)]
3abx +a° + b3 [(x +a+b)(x? —ax — bx + a2 + b2 — ab)]
2x* — 13x3b + 29x2b? — 28xb® + 12b*4. [(x — 2b)(x — 3b)(2x? — 3xb + 2b?)]
—19x* 4+ 114x® — 238x? + 205x — 63. (x—=1)%x-7)(x —9)]
26x°% + 68x5 + 126x* — 98x°. 23 (x — 72(x2 +x —1)]
x5 4 6x* — 15x3 — 116x2 + 48x + 576. [(x —8)%(x + 4)*
]

(x —y)Kk® + (y® — x®)k +xy(x® — y2). [(x=y)k —x)(k —y)(k +X +Y)]



SCOMPOSIZIONE DI UN POLINOMIO IN FATTORI - bis
Esercizi proposti

237. 8x5 — 50x3y?; a2b® + 2ab + b. [2x3(2x + 5y)(2x — 5y); b(a+1)?
238- a’x —3a’y —bx +3by;  27x* — 64xy5. [(@® — b)(x — 8y); x(3x — 4y?)(9x + 12xy? + 16y*)]
239- (X +y — 12 +2(x+y—1)+ (x+y—1)°. [(x 4y —1)(3x2 +y? + 4xy — 4x + 1)]
240. (@+b+cl@a+b+1)+@+b+ci@+b-1). [2(a+b)(@+b+c)
241 . %xzy(%x e %y) —2xy? (%x - %y) w-x(%y — %x) {x(%x - %y) (%xy =2y 4 1)}
242. 2;l—sxzy“ + %xz +9x* + %xzy2 — %x3y2 —21x°. [(__ JS_)(y2 -~ g—x - 3x2)2
243. (x+1)2 +2(x +1)(2x + 3) + (2x + 3)2. [(3x + 4)?)
244. y2 + 8y — 33; (3x — 4)2 — (5x + 6)°. [(y — 3)(y + 11); —4(4x + 1)(x +5)]
245- x3 4+ 125y° — x2 — 10xy — 25y2. [(x + 5y)(x% — 5xy + 25y? — x — 5y)|
246. x8 —y8; 1-Bx =52 [(x+y)(x—y)(+y2)(x*+y*); 9(2—x)(3x*—9x +7)]
247. o +4y? + 25x2y2 — 12x2y 4 30x3y — 20xy2. [(3x% — 2y + 5xy)?]
248. 2x2 — Tx + 3; y? -7y —6. [(2x = 1)(x=3); (¥ =3)(y+2)(y+1)]
249. —8x57 4 12x4p5 — Bx27p10 4 b5, [—(2¢®" - b5)®
250. a® -a; 16—-a2—b2+2ab. [a(a—1)(@*+a*+a’+a+1); (4+a—b)(4—a+b)
251 s (X3 -27)(x+3)+ (x®*+27)(x — 3). [2(x = 3)(x + 3)(x2 +9)|
252. x* —9x® +29x2 — 39x + 18. [(x — 1)(x — 2)(x — 3)?]
253. 22 a0 1502 [(a+3b)(2a - 5b)]
254, b?(2a — b)? + 3b(b — 2a)*. [2b(2b — 3a)(2a — b)?]
255. (a—2b)% +2(a — 2b)(3a + 5b) + (3a + 5b)2. [(4a + 3b)?
256. (@ +b)(a—b)® +2(a% + 3b2)(b — a) +a2(a — b). [-7b%(a — b)]
257 a® — bt +a* +b% a* —3a®+2a - 6. (@* +b*)(@* — b* +1); (a—3)(@ +2)|

258- X2 4 6x +9— 4y a' 4+ 2a%" + a2, [(x+3—2y)(x +3+2y); 8@ + 1)
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2817.

SCOMPOSIZIONE DI UN POLINOMIO IN FATTORI - bis
Esercizi proposti

&~ 1=t} a; a® —4a +4 —ax + 2x. (@—1)(@ +1); (a—2)I(aV-2~x)1
x3(y2 —1)2 —x%; X3 —2x% — xPy + 2xy. 22 - 2); x(x — y)(x - 2)]
4b? — a2 -2a -1, [(2b—a-1)(2b+a+1)]
(x —3)% + (@ —3x)2 + (2x — 6)°. [(x - 3)°(x2 + 5)]
X =32 23 - 22 + X2 — 2, [(x = ¥)(x +y)(x + 1)

(3a — 4b)x — 12ab. [(x — 3a)(x + 4b))
(3 — 2y)? — (5x — 2)(3x — 2) — 2(3x — 2). [20¢+ 1)(3x - 2y)]
4% — 8ab + 4b? — 81; Zanz—%azz. (2a — 2b — 9)(2a — 2b + 9); %a(Sy—z)(5y+2)]
X3 —y® —9x + 9y + X2y — xy. [(x=y)(x+y —3)(x +y+3)
2b+(a+2)°% -b?-1; =Y 4+ —x?yt [(a—-b+3)(@a+b+1); (x—y)(x+y)(+y2)?
—bxz +— bxy—f—ﬁby [—%ib(x --ky)g}
X2—x+42y—-3xy +2y?; x2 —2ax+a% - b2 [(x—2y)(x =y —=1); (x—a—b)(x—a+b)

(@=b+1)x+a—b; a?—2ab+b?-a4. (x=1D(x—a+b) (@a-b+2)(@a—-b-2)]
& — b2 — 4a + 4b; x* - 2x%y — 4xy? + 8y°. [(@a—b)@+b—4); (x+2y)(x - 2y)7]
3(a+b)° — 9(a? — b?)(a+b) + 6(a — b?)(a — b). [6b(a + b)(3b - a)]

=y —x—xy—y%  C—xPy+x(x-y-2(x=y)% [(+xy+y?)(x—y—1); y(x—y)(3x-2y)]
X3 — 4x®y + 3xy? — 2x%(x — 3y) + x(x2 — 9y?). [2xy (x — 3y)]
2x* 4+ x3y — 23x2y2 — 4xy® + 60y4. [(x = 2y)(x + 2y)(x + 3y) (2x 5y)]

27x° <8 + 1% = 51?" ( ~ ) }
(x—=1)(x> —3x —4) — (x + 1)(x*> — 6x + 8). ¥ [(x+1)(x— )]
(6 —2)2-2(x2—4) + (x—2)%; (X2 +y2)? — 4x2y2, [16; (x +y)2(x — y)?]
@4 bYae? 4%+ (a+ b (@ + b)(a® — ab + b? + 2b)]
235 — g% — 26a3 + 138° + 72a — 36. [(@a—2)(a+2)(a—3)(2a—1)]
X2 +2xy +y? —a? + 2ab — b2. [(x+y+a—b)x+y—a+b)
2x(x° +y°) — Ax®y2(x® + y2) + Bxy? (x* — y*). [2x(x% +y?)(x* — 2y")]
9a? — 12b%; —25x4y® 4+ 3. [3(a — 2b)(a + 2b); y3(1 — 5x2)(1 + 5x?)]
3a®b — 6a’b + 6ab; zt + 3z — 2t — 6. [Bab(a® — 2a +2); (z—2)(t+3)]
1622 — 16xz + 4x2; (2a+b)? — (5 —b)2. [4(2z — x)?; (2a+5)(2a + 2b — 5)]

3
—9z8y2 + Z2y10; 8—623—}—%26*%29. 22y%(y*+32°%) (y* - 32%); ( - ; 3)}



